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OpticScore

\

\ Name: Marcus Vath
Disziplin 40 Schuss

{ \ Stand: , 10
°{\ ’ 6q Datum 24.01.2023 22:30:05

\ ”..
‘ Schusswert Z 10 19 8 76543210 @
. //Anzahl 6 12 1510 2100000 0

Probe1 Vol Ringe '10:1059 9 10 10 6 8 9 9 90
g Zehpiel 104108 9.4 99 102102 6.4 88 91 9.0§94.2

f? 'R ‘Is Teiler 4024  104.0 '1271.3 | 8787 5954 | 624.8 |3670.9 -,1733.5 :1516.2 -1579.3

® ,./ Innenzehner = ® | ' | 2

Serie1  voleminge 10 10 9 10 8 10 10 10 9 8 94
@ Zehntel 10.1 :10.7’ 9.1 j10.0_ 8.1 j10.4§10.5§10.3§ 9.9 8.3 974
Teiler 7052  219.3 | 14468 7536 22850 4350 3738 | 557.8 | 8596 2113.0

. Innenzehner ® I i ® : ® | 3

H

Serie2  voleRmge 9 8 10 8 7 10 9 1o§1o§9§90

® N zewe 91 84 106 83 7.7(10.1 95 10.7 102 9.3 93.9

€ 'E H .
. [ 4 Teiler 1474.5 2064.3 | 279.5 21403 2607.6 703.0 11581 | 210.9 | 626.4 ;1306.0

Ce /. Innenzehner ‘ | 5 i I 92

Serie3  volemnge 8 9 9 10 9 8 9 9 10 8 89
2% e
@®

e @ ~ Innenzehner » ! | | | 1
) ¥ |

Zehntel 80 9.8 95 104 9.1 86 9.1 95 103 84 927

Teiler 23746 9434 11634 4596 14894 18885 14451 11813 5226 20242

Serie 4 Volle Ringe 9 9 8 9 9 8 7 6 9 8 ?82

‘g, . zme 94 93 85 96 97 87 72 64 95 82 865

] Teiler 1274.9 1352.2 1989.6 11165 1037.5 1783.9 3009.5 '3636.7 1153.1 2209.4

Innenzehner i ! i 0



Training
(94)
(90)
(89)

(82)

355 Ringe

=
N
wW
NN
1
D
~
[oe]
[(e}

10

10,9

10,8

10,7

10,6

10,5

10,4

10,3

10,2

K| X[ XX

10,1

10,0

>

9,9

9,8

9,7

9,6

9,5

9,4

D[] 2| D D D[ XX > X XX <[ XX X< X< | XX X

x| X[ X

9,3

952

9,1

X([>

9,0

8,9

8,8

8,7

8,6

8,5

8,4

8,3

8,2

8,1

XX X[ 3] X ><| XX XX [ ><| X
>

8,0

7,9

7,8

7,7 X

7,6

7,5

7,4

7,3

72| X

7,1

7,0

6,9

6,8

6,7

6,6

6,5

6,4 X| X

6,3

6,2

6,1

6,0

21 (!) "saubere" Schuf in Folge!




